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Description
Configuration Example

{D CAUTION

Configurations from the scenarios below are examples that demonstrate the potential capabilities of the Infinet Wireless devices. The configurations
may vary depending on the model and firmware version. We do not recommend copying this solutions to the hardware without checking.

Description

It is easy to fully reserve a connection by combining two radio channels into one MINT domain. The traffic path will be automatically selected based on the quality
of each radio link in this case.
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Configuration Example
A management is VLAN 100 in switch group #100. A transport of user data is in switch group #1.

® (Configure Master 1 and Slave 1 as the main link.


https://academy.infinetwireless.com/en/certifications/exams

Title

Master 1

rf rf5.0 band 40

rf rf5.0 mno

rf rf5.0 freq 5000 bitr 300000 sid 10101010 bur st
rf rf5.0 txpw 25 pwctl distance auto
dfs rf5.0 dfsoff

mnt rf5.0 -roam ng | eader

mnt rf5.0 -type master

mnt rf5.0 -nane "Master 1"

mnt rf5. 0 -key "123456789"

mint rf5.0 poll start

ifc svil00 up

ifc vlan100 vl an 100 vl andev ethO up
sw group 100 add vl an100 rf5.0

svi 100 group 100

ifc svil00 192.168.1.1/24

sw group 100 stp on

sw group 100 start

Slave 1

rf rf5.0 band 40

rf rf5.0 mno

rf rf5.0 burst

dfs rf5.0 dfsoff

mint rf5.0 prof 1 -band 40 -freq 5000 -bitr 300000 -sid 10101010 -nodeid 00020 -type slave -netid O -
m nbitr 30000 -autobitr -mnmo -key "123456789"
mnt rf5.0 -nane "Slave 1"

ifc svil00 up

ifc vlan100 vl an 100 vl andev ethO up

sw group 100 add vl an100 rf5.0

svi 100 group 100

ifc svil00 192.168.1.2/24

switch group 100 order 1

sw group 100 stp on

sw group 100 start

® Configure Master 2 and Slave 2 as a backup link.

Master 2

rf rf5.0 band 40

rf rf5.0 mino

rf rf5.0 freq 5100 bitr 300000 sid 10101010 bur st
rf rf5.0 txpw 25 pwctl distance auto
dfs rf5.0 dfsoff

mnt rf5.0 -roaning | eader

mnt rf5.0 -type master

mnt rf5.0 -name "Master 2"

mnt rf5.0 -key "123456789"

mnt rf5.0 poll start

ifc svil00 up

ifc vlanl00 vl an 100 vl andev ethO up
sw group 100 add vl an100 rf5.0

svi 100 group 100

ifc svil00 192.168.1.3/24

switch group 100 order 1

sw group 100 stp on

sw group 100 start
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Slave 2

rf rf5.0 band 40

rf rf5.0 mno

rf rf5.0 burst

dfs rf5.0 dfsoff

mnt rf5.0 prof 1 -band 40 -freq 5100 -bitr 300000 -sid 10101010 -nodeid 00040 -type slave -netid O -
m nbitr 30000 -autobitr -mnmo -key "123456789"
mnt rf5.0 -nane "Slave 2"

ifc svil00 up

ifc vlan100 vl an 100 vl andev ethO up

sw group 100 add vl an100 rf5.0

svi 100 group 100

ifc svil00 192.168.1.4/24

switch group 100 order 1

sw group 100 stp on

sw group 100 start

® (Create united MINT domain.

Master 1

ifc prfOo up

prf 0 parent ethO

mnt prf0 -name "Master 1 prf"
nt prf0 -nodeid 00050

nt prfO -type master

nt prf0 -node fixed

nt prf0 -key "123456789"

nt prfO -authnmode public

nt prfO start

nt joinrf5.0 prfo

3333333

Slave 1

ifc prfO up

prf O parent ethO

mint prfO -name "Slave 1 prf"
nt prf0 -nodeid 00060

nt prfO -type master

nt prf0 -node fixed

nt prf0 -key "123456789"

nt prfO -authnode public

nt prf0O start

nt join rf5.0 prf0

3333333

Master 2

ifc prfO up

prf 0 parent ethO

mnt prfO -name "Master 2 prf”
nt prf0 -nodeid 00070

nt prfO -type master

nt prf0O -node fixed

nt prf0 -key "123456789"

nt prfO -authnode public

nt prfO start

nt joinrf5.0 prf0

3333333
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Slave 2

ifc prfO up

prf 0 parent ethO

mnt prfO -name "Slave 2 prf"
nt prfO -nodeid 00080

nt prfO -type naster

nt prfO -node fixed

nt prf0 -key "123456789"

nt prfO -authnode public

nt prfO start

nt joinrf5.0 prfo

3333333

® Configure switch groups.

(D CAUTION
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If you do not exclude the interface ethO on one of the devices or do not enable STP, then there will be a loop.
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The STP protocol is used to eliminate the loop In the example below.

Master 1

switch group 1 add ethO prf0
sw group 1 stp on
switch group 1 start

Master 2

switch group 1 add ethO prfO
sw group 1 stp on
switch group 1 start

Slave 1

switch group 1 add ethO prfo0
sw group 1 stp on
switch group 1 start
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Slave 2

switch group 1 add ethO prfoO
sw group 1 stp on
switch group 1 start
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